Module 5 – Nuclear and Atomic Physics: Quiz 2a
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1. Find the energy of 520 nm light photons in eV.

2. What is the minimum frequency of light needed to make photoelectrons when this light strikes a metal with a work function of 2.25 eV?   What wavelength light is this in nm?  
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hf = φ
hf = 2.25eV
hf = 3.6x10−19 J



f = ΔE
h



= 3.6x10−19 J
6.63x10−34 Js



= 5.4x1014Hz



λ = c
f
= 3.00x10



8m / s
5x1014Hz



= 5.53x10−7m = 553nm
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E = hc
λ



= 6.63x10
−34 Js x 3.00x108m / s
5.30x10−7m



= 3.75x10−19 J



E = 3.75x10−19 J x 1eV
1.6x10−19 J



= 2.35eV
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